One-Variable Linear Equations (ax+b=c)

Name:

4x—3=25

Tx+4=153

7.

dx+6=18

4x—2=126

bx+2=44

Tx—5=23

o¢]

Tx+7=35

Ut 6=13

4x+ 4 = 40

Date: Score:

(OS]

4e+6=42

o)

&+5=13

hey

2x+3=17

s 5=10

S5x+8=13

www.snowmath.com



https://www.snowmath.com

One-Variable Linear Equations (ax+b=c)

Name:

b ax—3=125
x=17

Tk +4=53
x=17

" 4x+6=18
x=3

0 4—2=126
x=17

Yoert2=44
x=17

Tx—5=23
x=4
2x—6=—4
x=1
Ix+7=35
x=4
Tx+6=13
x=1
dx+ 4 =40
x=9

Date:

(OS]

www.snowmath.com

Score:

dx+ 6=42
x=9
& +5=13
x=1
2x+3=17
x=17
5x+5=10
x=1
5x+ 8=13
x=1



https://www.snowmath.com

